FERTEE ITUG ARG Rdr THEr- 2022 ufAT faia7h 2003
HELEE ZTS RraT FeT TEET - 2000

ﬁ 2022

Paper - Il L17
Agricultural Science and Technology

k.

22800
ON 13I%0049
1epihiaK

Solhs

K0T 9% : 100
a4 : 1 (Th) T TeRUT IO : 200

T
(1) T TAYRERd 100 AT T 3718d. IHearH! JeTh I ffevams geara stvamge! a1 wegfeahd ad
T 3TEa fohan TTE A WE FE4 A, T8E 3T HIE QY STeSeTE & IRt qudahihgd

NUEKCCGCRZICIE IS

(2) STIAT Tar-3hTeh BT HehATd 7 foreRan sieTae fergra. T

e R A 31

(3) o BIUCICN TYAYRETHT SFHT ool ITRubihar fafdre St Saeatisheadier gemymm 7 foraren ug s,

(4) T TGRSR Tedish TRATC 4 TaRft S gafaelt 3 & 1, 2, 3 anfr 4 3@ swuT fooia 3.
N IR IR GElq AR IT0ET HHIH IqEkae GE-sHTO gHeAT ITRUGRhat Fg hUGT. 3T
THR ITTAhal ITH-FHIH TG HAMT A1 TS TH-FHHEHAR BRTRD e e s Jre
HIc3Sll ST, SRR kel ShicoAl IS SHeToH aTaRTd, UFFEe & T U JIos .

(5) T THAHT THM 01 ARG, AT G T I AT, ARG ThT BIVIR ATER AT GEIT B W
foraern ST T AiEaEd. HER T GIEfU SRR 3R U0 TEe U9 Shalul Seedrd wveR 96 7
FSACAT TFTHS AN AIGERT .

(6) STRUTIHRT TeheT T Hoie! I Giedl IV ATE. TG Fefel IT Wigd T I feeam o qumaet Som
TTE. THNHT A I TG HodH d ST T T A8 9 T FehreA ITTE 0 I el A

(7) T GHErean STRUTRR! Yraieh ShidlH1 SHEIRISAT ITUThdicl arg ST Tt et i, e
SN AT ITRUATHR FEeIea Seeh Yehieal ST 25% ek 1/4 o1 &=t /<t suara i

AThIg

TN IFAARES ST fafga Shovel S Tauda § TG STERTIR HIeTHET ST W THRIRT IHEARICT THEETS STRuE
3o 39 R, B S TR et TegRerll wa /s, fehan Tiet SregfedieT S STYE FIUTETE TR See o STSRsn
FITEIT ST G0, Fera S S0 2 TR ST 39 et RUTF SRR IR TR Shevedn * Tated lovan s
Ut SR AfRET-g2" AT TEGAR a8 TafeTd RIS TRaEIHaR HRArE U A5 3 Qi SRl ST Uh
o T SRS fafea e S wuvananedl € wyg e fiiehadu) el 8 e TR SRR R ST saeRtl sTriTrea
Eﬁmﬂéargﬁ, a%a;ﬂaﬁmwﬁémﬁﬁmm N SHEifereg 3o FffREIaR wRaE wXvamm 33 a adl
L2C 5 IH FEA.

SEAL

ﬁm@m%wmﬁ‘ﬁl




09

3y

e 30
tey y

2

Hesdl hMTETS AT / SPACE FOR ROUGH WORK

L17



b

3 ’ L17

1. Which one of the following is calculated by converting the yields of different intercrops
into equivalent yield of any one crop based on price of the produce ?

(1)
(@)
(3)
)

4

Relative total yield
Land equivalent ratio
Crop equivalent yield

Multiple cropping index

2. The full form of APEDA is

Agricultural and Processed Food Products Export Development Authority

Agricultural and Processed Food Products Evaluation and Development
Authority

Agricultural Production and Food Products Export Development Authority

Agricultural Processing, Evaluation and Distribution Authority

3. Match the following :

Millet Botanical Name
Finger millet a. Panicum sumatrense
Little millet b. Setaria italica

Foxtail millet c. Panicum miliaceum
Proso millet d. Eleusine coracana

Answer options :

(1

| n m v
a b c d

)
2 c d b a
3 d a b ¢
@4 b a c d
Feedl HIHETE AN / SPACE FOR ROUGH WORK P.T.O.
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4. The asexual method of propagation is divided into :

a. Stem cutting

b. Rooted slips

c. Seeds

d. Rhizomes
Answer options :
(1) aonly

(2) a,bandc
(3) a,b,candd
(4) a,bandd

L17

5. The properties of atmosphere are :
a. ltis not visible, but it is felt if in motion
b. It has no smell or taste or colour

c. It does not occupy space and has no mass

d. It exert pressure
Answer options :
(1) a,bandc
2) a,bandd
3) b,candd

(
(
(4) a,b,candd

6. The weather abnormalities which can affect crops adversely in India are :

a. Drought and floods

b. Heat and cold waves
c. Soil types
d. High winds

Answer options :

(1) a,bandc

(2) a,bandd

(3) a,b,candd

(4) b,candd
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7. The process of breaking, scratching, mechanically altering or softening the seed coats
to make them permeable to water and gases is known as

(1) Acid treatment
(2) Scarification
(3) Leaching

(4) Hormonal treatment

8. The objective of integrated farming system is
(1) To achieve maximum replacement of off farm inputs
(2) To use maximum fertilizers and irrigation for higher production
(3) To concentrate only on single farm enterprise

(4) All of the above

9. Blind tillage refers to the tillage of the soil

(1) After seeding or planting the crop; either at pre-emergence stage of crop plants
or while they are in early stages of growth

(2) Before seeding or planting the crop
(3) Simultaneously at seeding or planting the crop

(4) None of the above

10. The sequence in which various crops are grown in a region or a locality in accordance
with prevailing agro-climatic and socio-economic conditions is known as

1) Cropping system

(1)
(2) Cropping pattern
(3) Farming system
(4) Sustainable agriculture
THeed1 hIHTHTS! AT / SPACE FOR ROUGH WORK P.TO.
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11.  Which one of the following facilitates an increased uptake of phosphorus ?
(1) Azotobacter
(2) Blue green algae
(3) Mycorrhizae

(4) Actinomycetes

12.  Among the following, which crops is/are C, plants ?
(1) Sugarcane
(2) Sorghum
(3) Maize

(4) All of the above

13. Accepted mode of action of herbicide is
(1) It inhibits the photosynthesis and respiration
(2) Itinhibits the biosynthesis and cell division process

(3) There will be abnormal tissue development and inhibition of the germination

process

(4) All of the above

14. The genetic and physical purity along with the high standard of all other quality

parameters for basic or nucleus seed has
(1) 95% purity (2) 100% purity

(3) 98% purity (4) 97% purity

FHTHT HHTETE! AT / SPACE FOR ROUGH WORK
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15. Which of the following is not found in cells of all plants ?

Rigid cell wall

(1)

(2) Central vacuole
(3) Plastids

(4)

Centrosomes

16. The plant is called monoecious when

(1

Male and female flowers on different plants

)
(2) Male and female parts in the same flower
(3) Male and female flowers are born on same plant
(4) Staminate

17. When some intermediates of TCA cycle are diverted to serve as precursors for
biosynthetic pathways, the TCA cycle is often called as

(1) Catabolic pathway
(2) Anabolic pathway
(3) Amphibolic pathway

(4) Ali of the above

18. Dattura spp. contains which of the following potential commercial alkaloid ?
(1) Tropane (2) Morphine

(3) Quinine (4) Caffeine

19. The type of gene interaction called supplementary gene action gives the ratio of

(1) 9:3:3:1 (2) 15:1
(3) 9:7 (4) 9:3:4
el HIHTHETS AR / SPACE FOR ROUGH WORK P.T.O.
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20. Which one of the following growth regulator compete and interfere with auxin activity ?
(1) TIBA (2) 2,4-D
(3) Tryptophan 4) IPA

21. Which of the different pathway of photosynthesis plants have lower water use efficiency ?
(1) Cgplants (2) C,plants
(3) CAM plants (4) All of the above

22. In mitosis, the phase which requires shortest duration is

(1) Prophase (2) Metaphase
(3) Anaphase (4) Telophase
23. The dried blood meal contains % nitrogen.
(1) 101012
(2) 12to 15
(3) 4t010
(4) 13
24. Sulfate of potash contains % K.
(1) 42to44 (2) 441046
(3) 46to048 (4) 60 and above

25. Cation exchange capacity of soil is
(1) The sum total of the exchangeable cations that a soil can adsorb
(2) The sum total of the exchangeable cations that a soil can absorb

(3) The sum total of the non-exchangeable and exchangeable cations that a soil can
absorb

(4) The sum total of exchangeable ions that a soil can absorb

THESHT HINETS! ST / SPACE FOR ROUGH WORK
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26. Which of the following micronutrient present in nitrogenase and nitrate reductase
enzymes essential for nitrogen fixation and nitrogen assimilation ?

(1) Zinc (2) Manganese
(3) Molybdenum (4) Boron

27. Process of precipitation and accumulation of calcium carbonate in some part of the
profile is termed as

(1) Podzolization

)
(2) Carbonation
(3) Calcification
(4) Decalcification

28. Which of the following desirable characteristics of an ideal green manure crop should
possess ?

a. It should be legume crop with good nodular habit
b. It should have little water requirement for its own growth

c. It should have a deep root system and contain large quantities of non-fibrous
tissues

d. It should have a shallow root system and certain fibrous tissues
Answer options :
(1) a,bandconly

(2) aandbonly
(3) b,canddonly
(4) a,canddonly

29. A continuous application of sewage waste over several years may result in enrichment
of in the top soil.

Essential nutrients
Heavy metals

3) Soil productivity
4) None of the above
FHeedl HETETE! ST / SPACE FOR ROUGH WORK P.T.O.
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30. Match the following :
a. Rhizobium |. Symbiotic association with trees and shrubs and fixes
atmospheric N.
b. Azotobacter Il. Chemo-heterotrophic bacteria associated to live within
roots of sorghum, pearl millet, rice
c. Frankia lll. Live in the root nodules of legumes through symbiotic
relationship
d. Azospirillum IV. Aerobic chemo-heterotrophic and free living bacteria
Answer options :
a b c d
(1) v H Il I
(2) | Il 1l v
(3) v | Il
4) m v Il I
31. Soft curd milk is characterised by
(1) Low casein and calcium content
(2) Low casein and high calcium content
(3) High casein and calcium content
(4) High casein and low calcium content
32. Bull’'s seminal vesicles secretions are rich in
(1) Copper (2) Fructose
(3) Mannose 4) Gel
33. Which s the best method of getting true strains from unknown stock by helping selection

of desirable and calling of undesirable individuals ?
(1) Inbreeding (2)
(3) Ceriss crossing 4)

Out crossing

Cross breeding

FHeedT HHHETE! AT / SPACE FOR ROUGH WORK
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34. The metabolisable energy (Mcal) requirement per day for maintenance of a lactating
cow weighing 400 kg as per ICAR (2013) standard is

(1) 10.52 (2) 11.82
(3) 14.32 4) 1272

35. Which milk is best for preparation of Chhana ?
(1) Cow milk (2) Buffalo milk
(3) Goat milk (4) Camel milk

36. Which of the following statements are correct about buffalo milk ?

a. Buffalo milk fat has a higher saponification value and melting point than cow
milk fat.

b. Cow milk fat is higher than buffalo milk fat in butyric and oleic acids.
c. The particle size of buffalo miscellar casein is larger than that of cow micelle
Answer options :

(1) aand c are correct

(2) b andc are correct
(3) aandb are correct
(4) All are incorrect

37. The total market value of all final goods produced and services provided by a
country in a year is called as

(1) Net National Product

(2) Gross National Product
(3) Gross Domestic Product
(4) Net Domestic Product

38. The stage which is associated with increased production, high investment in basic
industries, expansion of bank credit, high prices, high profits, full employment, efc. is

known as
(1) Incremental stage (2) Prosperity stage
(3) Recovery stage (4) None of the above
TFHoedl HUMETS AN / SPACE FOR ROUGH WORK P.T.O.
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39. Which of the following law explains, “As additional units of variable inputs are used in
combination with one or more fixed inputs, the marginal physical product will eventually
begin to decline” ?

Law of diminishing returns

(1)

(2) Law of equimarginal returns

(3) Law of marginal physical product
(4) Law of increasing returns

40. Which of the following loan is a self-liquidating loan ?
(1) Long term loan (2) Crop loan

(3) Medium term loan (4) Chattel loan

41. Which of the following is/are the aspects of food problem in India ?

Quantitative Aspects

(1)

(2) Qualitative Aspects

(3) High prices of food grains Vs. Purchasing power
(4) All of these

42. Why more farmers are going for crop insurance ?

1) Protection to farmers against failure of crops

(1)

(2) Provide confidence to adopt modern technology

(3) Itis difficult to inspect crops and determine damage
(4) Difficult to fix rate of premium for individual farmers

43. The process by which innovation is communicated through certain channels over time
among the members of a social system is called as

(1) Communication (2) Diffusion

(3) Adoption (4) None of the above

THeedl hIHIETS! AT / SPACE FOR ROUGH WORK
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44, is the basic unit of society.
(1) Neighbourhood (2) Group
(3) Family (4) Community

45. A sampling in which each possible sample of ‘n’ different units has an equal chance
of being selected which also implies an equal chance of selection into the sample is
called as
(1) quasi-random sampling (2) simple random sampling
(3) stratified random sampling (4) multistage random sampling

46. Who was the pioneer of ‘Etawah Pilot Project’ ?
(1) S.K. Dey (2) Albert Mayer
(3) F.L.Brayne (4) Dr. Spencer Hatch

47. Those who take more time for diffusion and adoption of idea or technology are
called as
(1) Innovators (2) Early majority
(3) lLaggards (4) Opinion leaders

48. Amongst the different communication methods, in which method “Study Tour” is
included
(1) Group method (2) Mass method
(3) Individual method (4) Virtual method

49. When the sustained rise in prices is about 10 per cent per annum, it is called
inflation.
(1) Running (2) Hyper
(3) Creeping (4) Walking

50. The lowest level of injury where damage can be measured is called
(1) ETL (2) EIL
(3) Damage Boundary (DB) (4) Damage

THETIT HIWTATS AR / SPACE FOR ROUGH WORK P.T.O.



ﬁ*‘ 14 L17

51. Which of the following organisms causes grasserie disease in Bombyx mori ?
(1) Nosema bombyeis

(2) Beauveria bassiana
(3) Bacillus bombysepticus
(4) Nuclear polyhedrosis virus

52. Trichogramma spp (Trichogrammatidae) parasitizes the
(1) Larvae of bollworm
(2) Pupa of bollworm
(3) Eggs of the bollworm
(4) Eggs and larvae of bollworm

53. Allelochemical giving an adaptive advantage to the receiving organism is known as

(1) Allomones (2) Kairomones
(3) Pheromone (4) None of these
54. Atthe base of coastal vein angle is present in general veination of wing in
insect.
(1) Anal (2) Apical
(3) Humeral (4) Coastal

55. Which of the following trap crop helps in reducing damage by Helicoverpa in cotton ?

(1) Maize (2) Sorghum

(3) Sunflower (4) Marigold
56. Cotton Pink bollworm hibernates in stage.

(1) Egg (2) Larval

(3) Pupal (4) Adult

57. Which of the following is total stem parasite ?
(1) Cuscuta (2) Striga
(3) Orobranche (4) Loranthus

THeed] hIMTETE! ST / SPACE FOR ROUGH WORK
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58. On which plant disease epidemics the first computer simulation programme was
prepared in 1969 ?

(1) Late leaf spot of groundnut

(2) Early blight of tomato and potato
(3) Late blight of tomato and potato
(4) Early leaf spot of groundnut

59. Which rice disease is caused by Xanthomonas campestris pv. oryzae ?
(1) Blast (2) Sheath rot
(3) Bacterial leaf blight (4) Sheath blight

60. Which of the following nitrogen fixing bacteria have associative relationship with cereal
and grass roots ?

(1) PSB (2) Rhizobium
(3) Azospirillum (4) KSB

61. Significant contribution of disease cycle of cereal rust in India was made by
(1) Mundkur (2) Nagarajan
(3) Payak M. M. (4) MehtaK. C.

62. The sterility mosaic of pigeon pea is caused by
(1) Virus
(2) Bacteria
(3) Fungus
(4) Nematodes

63. Which kind of nematode cause problems in Gram crop ?
(1) Root knot nematode
(2) Spiral nematode
(3) Ear-cockle nematode
(

4) Burrowing nematode

FHoedl HIATETS! JAT / SPACE FOR ROUGH WORK P.T.O.
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64. Which diseases generally interfere the translocation of water in plants ?
(1) Leaf spots (2) Wilts
(38) Smuts (4) Rusts

65. If aline is in NW quadrant and its whole circle bearing is 275°, its reduced bearing

will be
(1) 105 (2) 95
(3) 85 4) 75

66. The major operations performed by modern rice mills are
a. Cleaning
b. Husking
c. Separation

d. Washing
Answer options :

(1) aandb only

(2) a,b,candd
(3) a,bandd
(4) a,bandc
67. In bin relative dimensions are such that the plane of rupture meets the
grain surface before it strikes the opposite side.
(1) Shallow (2) Deep
(3) Bukhari (4) Kothari

68. A volume of water necessary to cover an area of one hectare to a depth of one

centimeter is equal to cubic metre.
(1) 10 (2) 100
(3) 1000 (4) 10000

THoedl HIMTHTSt T / SPACE FOR ROUGH WORK
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The shape of Hydrograph is effected by
a. Non uniform aerial distribution of rainfall
b. Varying rainfall intensity
c. Shape of the basin
d. Direction of storm movement
Answer options :
(1) a,bandd
(2) aandbonly
(3) a,bandc
(4)

4) a,b,candd

70.

Hot gas efficiency in gasification process is

(1) Directly proportional to potential and sensible heat of gas
(2) Inversely proportional to potential and sensible heat of gas
(3) Directly proportional to heat available in solid fuel
(4)

4) None of the above

71.

is the side draft of M.B. plough having pull 1000 N with angle of pull as
30° with horizontal plane as well as vertical plane.

(1) 866N (2) 433N
(3) 1000 N (4) 100N

72.

The rainfall hyetograph gives time distribution of
(1) Rainfall volume (2) Rainfall depth
(3) Rainfall intensity (4) Rainfall frequency

73.

All spice combines in itself the odour and flavour of
(1) Nutmeg; Cardamom; Cumin and Anise

(2) Fennel; Cumin; Ginger and Cinnamon

(3) Nutmeg; Clove; Cinnamon and Pepper
(

4) Cardamom; Clove; Saffron and Nutmeg

FHeedT FHHTETE AR / SPACE FOR ROUGH WORK P.T.O.
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74. Which of the following is a monocotyledon crop ?
(1) Beetroot (2) Spinach
(3) Onion (4) Radish
75. ‘Ambika’ a mango hybrid is a cross between
(1) Amrapali x Janardhan Pasand
(2) Amrapali x Alphanso
(3) Amrapali x Vanraj
(4) Neelum x Dashehari
76. Litchi belongs to the family
(1) Moraceae (2) Bromeliaceae
(3) Sapindaceae (4) Myrtaceae
77. Which of the following is the genomic constitution of Dwarf Cavendish and Robusta
Banana ?
(1) AAB (2) ABB
(3) AAA (4) AAAA
78. Skiffing is the lightest form of prunning in
(1) Tea (2) Coffee
(3) Cardamom (4) Cinnamon
79. For retention of green colour of cardamom during storage, which of the following

treatment is found best ?
(1) Soaking green (wet) cardamom in 2.0% sodium carbonate for 10 minutes

2) Soaking green (wet) cardamom in 2.0% sodium carbonate for 20 minutes

)
(2) (wet)
(3) Soaking green (wet) cardamom in 2.0% potassium carbonate for 10 minutes
(4) (wet)

4) Soaking green (wet) cardamom in 2.0% potassium carbonate for 20 minutes

SHeedT FHINMTS! AT / SPACE FOR ROUGH WORK
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80. Konkan Haritparni is the variety of
(1) Tannia (2) Colocasia

(3) Arrow root (4) Cassava

81. Following is/are among the various substances defined as “Food” according to
“Food Safety and Standards Act 2006”.

a. Genetically modified or engineered food
b. Water used during treatment of food
c. Live animals

d. Drugs and medicinal products

Which of the above is/are correct ?

(1) aonly

(2) aandbonly
(3) a,bandconly
(4) All of the above

82. The sensitivity analysis of the project appraisal includes which of the following points ?
1. Consideration of the length of the period over the existing one.
2. Changes (increase or decrease) in prices of goods and services of the project.
3. Changes in the levels of cost.
4. Changes in the yield levels of crops and livestock.
5

Amount of subsidy released for project.

Answer options :

M 1 2 3 5
@ 3 5 4 1
@ 4 2 1 3
4 5 2 1 4
Tl HIMTETS! AT / SPACE FOR ROUGH WORK P.T.O.



o

20

83. Which of the following principles of farm finance is not included in 7Ps ?

1.

 w b

7.

8.

Principle of personality
Principle of proper utilization
Principle of repayment
Principle of subsidy
Principle of productivity
Principle of penal interest
Principle of protection

Principle of phased disbursement

Answer options :

(1) 2and?7

(2) 3and5

(3) 8and1

(4) 4and6

L17

84. Which of the following is a natural mineral fiber ?

(1) Glass (2) Nylon

(3) Asbestos (4) Rayon

85. Kwashiorkor disease due to lack of protein occurs in

(1) children aged 1 to 5 years

(2) children aged 4 to 7 years

(3)

children aged 6 to 8 years

(4) children aged 2 to 8 years

TSI TS JART / SPACE FOR ROUGH WORK
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86. Which of the following method is used for separation of DNA fragments cut by restriction
enzymes ?
(1) PCR
(2) Western biotting
(3) Gel electrophoresis
(4) Centrifugation

87. Alexander Fleming noticed the mould growing on a petridish of bacteria preventing
the duplication of bacteria, he identified that mould produced self defence chemical
that could kill bacteria, is the first antibiotic penicillin in the year
(1) 1828 (2) 1945
(8) 1928 (4) 1857

88. In western blotting technique are electrophoresed in polyacrylamide
gel and transferred onto a nitrocellulose or nylon membrane.
(1) RNA (2) DNA
(3) Proteins (4) All of the above

89. Recombinant DNA technology involves
(1) Improving the natural capabilities of microorganisms
(2) Making them capable of novel processes
(3) Discovering microorganisms with new capabilities
(4) All of the above

90. In 1901 T. H. Morgan coined the term to denote the capacity of cell to develop into
an organism by regeneration is called as
(1) Embryogenesis
(2) Totipotency
(3) Multipotency
(4) None of the above

THeed1 KIS TR / SPACE FOR ROUGH WORK P.T.O.
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91. Release of hatchery reared young fish in open sea water is known as
a. Sea Urchin
b. Sea Saw
c. Sea Ranching
d. Spawning
Answer options :
(1) aonly (2) aandb only
(3) conly (4) donly
82. Which layer of Lamellidens shell is called as “Mother of Pearl” ?
(1) Nacreous
(2) Prismatic
(3) Periostracum
(4) Conchiolin
93. The clarification of fruit juices is carried out by
(1) Proteases (2) Pectinases
(3) Lipases (4) Cellulases
94. are dilute acid and alkali insoluble structural and protective proteins.
(1) Prolamines (2) Globulins
(3) Scleroproteins (4) Albumins
95. What is purpose of food irradiation in poultry products ?

(1) Inhibition of sprouting
(2) Destruction of parasite
(3) Inactivation of salmonella
(4)

4) Decontamination of food ingredients

Hee™T HHETE AR / SPACE FOR ROUGH WORK
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96. The lethal dose of irradiation for human being is

(1)

102 - 103 rads
103 - 10° rads
107 — 10° rads
10° — 107 rads

97.

grape variety from the following is used for making white wine.
Cabernet sauvignan
Pinot blanc
Petite sirah
Pinot noir

98. The watery soft rot found mostly in vegetables is caused chiefly by

(1)
(2)
(3)
(4)

Sclerotinia sclerotiorum
Erwinia carotovora
Penicillium digitatum
Rhizopus stolonifer

99. parasitic infection is caused by consumption of raw or insufficiently

cooked pork and pork products.
(1) Diphyllobothrium lactum
(2) Anisakis spp.
(3) Taenia solium
(4) Trichinella spiralis

100. are associated with roasted and nutty flavours in heated foods.
(1) Pyrazines
(2) Esters
(3) Terpenes
(4) Lactones

el HITHETS! SIRT / SPACE FOR ROUGH WORK P.T.O.
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Pick out the correct word to fill in the blank :

Q. No. 201. | congratulate you your grand success.
(1) for (2) at
(3) on (4) about
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